TRIGONOMETRIC IDENTITIES (FOR MAC1114)
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2) a)sin(x+y)=sinxcosy+cosxsiny b)sin(x-y)=sinxcosy-cosxsiny
c)cos(x+y)=cosxcosy-sinxsiny d)cos(x-y)=cosxcosy+sinxsiny
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3)a) sin x+gn y=23in%cos% b) sin x—sin y = 2cos sin
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€) COS X+ COS Yy = 2C0S Zycos y

d) cosx—cosy=-2sn
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cos® x—sin? x

4) a)sin2x=2sinxcosx b)cos2x={ 1-2sin®x c)tan 2x = Zt;anzx
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6)a)lf sinx= a then; x = 2km+sin"ta Where K is an integer
or x = 2km+ (m—sin"la)
b)If cosx= p then; x = 2km F cos™1p Where K is an integer

c)If tanx =y then; x = km+tan"ly Where K is an integer



